NCL — ATT Written test for the Post of: Dragline Operator (Trainee), in reference to E.N.:187,dt: 22/02/2020, SET A

1 [ Unit of energy is: ol DI SHR & :
A)Kg/N-m B)Kg-m/s A) fear oy ~gea-de ) fova o\ e /e
C)N-m D)None of the above C) gea-Hi D) SRIF H ¥ PIs el
2 | The angle which is less than 90 degree is called PI0T SN Q o f&Ut @IW% g1 o1l §:
A) Right angle B) Obtuse angle A) JMg¢ TTd B) HTeqcs WTd
C) Acute angle D) All of the above C) T BT D) SWRId It
3 | Chromium is added to improve which property of E%r & Pgqued o QYR F3A & forg piftrm
steel? ﬁx‘:ﬁ@TGﬂFﬂgm
A)Toughness B)Hardness A) HfSar B) ®ARdl
C)Strength D)Corrosion resistance C) Tfad D) H&rRur gfcRiy
4 | The quality control allows at the most 0.4% TUTerT (0T Tfe, 3 aH 0.4% GIequUl fRea
defective parts, How many defective parts can be | &1 3FARI &1 &,dl 500 1 & IcdTa | fpa
allowed in a production of 500 parts SIYqul T @1 SrAfd &t S Tavdl! 82
A) 02 B) 01 A) 02 B) 01
C) 20 D) 10 0) 20 D) 10
5 | Counter boring is done for? HIIeR AT ITIN R
A) Deburring hole ends A) 5% BRI ¥ iy gem A
B) Enlarging holes to accurate size B) f&% &I Ul HR dd dgM o
C) Finishing cored holes Q) FIS Fal P TR B A
D) Accommodating socket head screws D) TifderT RR FRIdsen &1 THRISH
6 | Reason for high lubricating oil consumption in engine | S5 § Wg® &1 3= WU b BRI ¢
A) Battery is weak A) 9 HHSIR B
B) Defective air cleaner B) GIyquf gaT FelR
C) Worn out piston rings 0 W%W%ﬁ
D) None of the above D) SR H A B TS
7 | A gear wheel has 24 teeth and 3 mm module What | T R &iat & 24 gid 3R 3 it Ay g, o
is its pitch diameter? T o oy fardn 82
A) 8 mm B) 72 cm A 8 ficiex B) 72 ¥R
C) 0.8 mm D) 72 mm C) 0.8 e D) 72 fiefidieR
8 | What is the minimum flash point of diesel ST BT FAqH TelR foig F1 &
A)50°F B)90° F A) 50°F B) 90°F
C)70° F D)100°F Q) 70° F D) 100° F
9 | The grain size of a grinding wheel is indicated by TH UIES B & I AI3Sl $I U WS gRI
numbers, which range of grain size referred to as ST AT 7, f5T A9 139l & 3Id_Tad &l 3
'Very Fine I &gl oldl &
A)30-40 B)70-80 A)30-40 B)70-80
C)250-600 D)100-150 C)250-600 D)100-150
10 | What is the bore size in bearing no: 9112? ST T 9112 & IR HT 3MHR fHa g2
A) 34 mm B) 48 mm A) 34 fo B) 48 fit
C) 80 mm D) 60 mm C) 80 o D) 60 fHHt
11 | Main purpose of using worm and worm wheel drives | =AY 3fR 3% 3fagd HaH 3R 9IH I
in machines and their accessories is to? @gamgq@naﬂﬁmg@g%{w%
A)Transmit large torque A) 3if¥p Tb & TR

B)Provide large speed reduction from worm shaft to
worm wheel

C)Transmit higher speeds

D)Provide large speed reduction from worm wheel
to worm shaft

B) A1 ¥MUE § A1H uflgar ad 7Ifd & S8 A
uaﬂm
C) 3= Tfd HaRur
D) 99 ®id ¥ IH WTUe de Tfd # 3= HH UgH
BT
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NCL — ATT Written test for the Post of: Dragline Operator (Trainee), in reference to E.N.:187,dt: 22/02/2020, SET A

12 | In which of the gear train first and last gears are %‘6@{ IR 3ifc R e iR ¢ o Tgsrela -
co-axial?
A)Single gear train B)Inverted gear train A) Ria iR ¢4 B) gdcs R ¢H
C)Compound gear train  D)AII of the above O FUSS MR D) IWad T

13 | When brakes are applied on a moving vehicle; the WWWNWWW% et Sl
kinetic energy is converted to.... @1... B uRafda far sar g
A) Mechanical Energy  B) Potential energy A) TAHT Soll B) fufaret Sutt
C) Electrical energy D) Heat energy C) fagga St D) ST Sl

14 | Hydraulic brakes function on the principle of BIRSIcId o by Rigid IR 1 ad 52
A)Law of conservation of momentum A) AT TREUT BT Ay
B)Law of conservation of energy B) Soll TREUT HT 1aH
C)Pascal’s law C) URehd T g
D)None of the above D) SRIFd | ¥ Pl el

15 | Hand brake is applicable to which wheels of vehicle? | 5 S a8 & o1 Ulgdl UR AL BIdT &7
A)only front wheels A) HId ITHA & Uil R
B)only rear wheels B) ad Ul & Ufgdl IR
C)both front and rear wheels ) 3 3R B 1 ufel )
D)all of the above are true D) IRId gt T&t =3

16 | Which factor(s) contribute to the effectiveness of | Y SRS s &I UHTERNed § TNEH Sd @ ?
the brakes? A) SIS TSI T &
A)Area of brake linings B) R & UfgT BT BF
B)Radius of car wheel C) Y % R ARL &GaTd DI HET
C)Amount of pressure applied to shoe brakes D)SWRIad it
D)AII of the above

17 | Name the device used for cooling the circulating | 59 H URITRI U ® 381 B & [old SUTRT
water in the engine, known as o ST a1t IUHRT BT A1 FaTd:
A)Water pump B)Radiator ) giex Uy B) YfgTeR
C)Water Jacket D)Thermostat C) dfex Sipe D) yHlee

18 | Which air fuel ratio is considered as rich mixture %HHT@‘&F{ 3UTd &1 TGS Y01 AT STl &
A)12:1 B)17:1 A) 12: 1 B) 17: 1
C)15:1 D)16:1 C) 15: 1 D) 16: 1

19 | Which of these is heaviest material among these four? | 39 TR & 9 B9 I a8 HRI dd &2
A)Aluminium B)Lead A) TegHiae B) dile
C)Copper D)Gold C) PR D) NS

20 | Major advantage of using V belt drive dt Sec S13d BT YA B BT TIE ATH:
A)Crippling B)Avoid slippage A) fepuferm B) fthieH 9 s
C)Avoid cutting D)None of these C) HeH A §419 D) 3TH I B3 T

21 | Example of semi liquid lubricant is U TR HeP BT IaTeRI o:
A)Grease B)Lord oil A) U B) @S 3iisd
C)Vegetable oil D)None of the above C) FTefd dd D) SWRIad H A ®IS g1

22 | Cam in IC Engine is used for converting ... ﬁ ﬁgﬁ%ﬂﬁ@ﬂﬂ%ﬁﬁﬁ%ﬁm

SIGIEE

A)Rotary motion to reciprocating motion

B)Reciprocating motion to rotary motion

C)Flat motion to reciprocating motion

D)AII of the above

A) e HIRH B T AR A uRafdd A
S)Wﬂﬁmaﬁﬂeﬁﬁmﬁwﬂaﬁaaﬂﬁ
?) wic HIYH P WUIHET \ee # uRafdd s
E)G@aamﬂ
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NCL — ATT Written test for the Post of: Dragline Operator (Trainee), in reference to E.N.:187,dt: 22/02/2020, SET A

23 | Electroplating on metal surface is what type of g@ﬁmméﬁ@@ﬁﬂ b UBR oI Ufshar
process? ?
A)Temporary B)Permanent A) YR B) R
C)Semi-permanent D)AII of the above C) fef-wreft D) IWRIad it
24 | Which of these is not a sunk key Eﬁ@fﬂﬁ??ﬁwﬁ =|T5°r%
A) Gib head key B) Woodruff key A) fags it B) IS poil
C) Feather key D) Saddle key Q) Hax FHoit D)%g\;[ ksl
25 | What is the meaning of CVT in cars Wﬁ'@ﬁﬁ'mww%
A)Cars variety transmission A) BT aR1T TR
B)Continuously variety traction B) HIfeffal arTgcl CaRM
C)Continuously variable Transmission C) S uRad-=ie e
D)AII of the above D) SWRIad a4t
26 | Which of these maintenance is recommended for | A=9 & S8R YeRH & T 378 ¥ frd I@@1T
better performance of machine? o1 R &t ot 82
A) Preventive maintenance A) FaR® Taxard
B) Breakdown maintenance B) SiheT3 W
C) Failure maintenance C) fawedr TevEma
D) All are correct D) quft Tt §
27 | Commonly used piston rings are IR TR IUTNT fohT oI a1et fore T 7
A) Compression rings A) Fute T
B) Oil rings B) 3figal R
C) Compression rings and oil rings C) Fuite T 3iR sifga &
D) Lubricating rings D) g R
28 | Which of these is used for change of direction o= Sqan & forg 379 ¥ foraet SuanT faar
A) Adapter B) Elbow I 82
C) Nipple D) Reducer A) TSR B) Tcdll
C) D) RS
29 | Measurement by dynamometer is displayed in SHAHIHICR §RT W%ﬂm ¥ Uefid gl §
which unit A) fobet are B) &
A) KW B) Kg C) YcH-Hiex D) &nvd’r@
C) Newton-meter D) RPM
30 | Which of these is used when large quantity is to be | ST& SSt H=T &7 FRI&U1 fPaT ST 8, A 570 4
inspected? fopaeT ITTNT fobar ST 87
A) Pin gauge B) Snap gauge A fF I B) BY 5
C) Plug gauge D) Vernier Q) @ D) IR
31 | The ratio of ultimate stress to working stress is 3ffeetie 1 Ud afd?1 1 &1 3UTd &
A) Modulus of elasticity ~ B) Elongation A) AId BT HITH B) deld
C) Factor of stress D) Factor of safety C) d-1d &1 HRP D) IR&T DT DRD
32 | A hole, which is not made through full depth of F o, O ged &1 O TR ¥ et 91
the component is known as ST ], & ¥ § ST Sl 8
A) Core hole B) Pin hole A) R B1d B) U gt
C) Blind hole D) Bore hole C) <ES B D) IR B
33 | The distance a drill advance into the job in one fopfl Ifd 7 U guH O Dls fod foTa-1 g ad
revolution is known as: HR ¢ 9 Headl 5
A)RPM B)Cutting speed A) 3RUTTH B) ShTeA &I TIfd
C)Machine speed D)Feed C) TR &1 fd D) B
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NCL — ATT Written test for the Post of: Dragline Operator (Trainee), in reference to E.N.:187,dt: 22/02/2020, SET A

34 [ Which of these is limit gauge: = I M fafte 9 &
A) Slip gauge A) g i
B) GO and NOGO gauge B ) Sit3fl 3R TSNSl st
C) Ring gauge DUKIE
D) Plug gauge D) @I IS

35 | In Electroplating to resist work from corrosion, SIS H BIH I ST Y g9 o oY, HIH
work will be connected to which pole of DC P S TR | & [y Uid o SIS gRT?
power source? A) YITHD ¢d
A)Positive pole B) BUMHD ¢d
B)Negative pole C) Yd DI A o1 @, ft off ga o ST o
C)Pole does not matter, can be connected to qhdl g
anyone of pole D) SIS & ¥ B ol
D)None of the above

36 | Which of these is not correct T 9 &I 91 98l el §
A) Steering shaft is made from drop forged steel | A) gl 2MUe M P Kd J S g
B) Drop arm is also called as pitmen arm B) S10 3ATH P! i amf +ff g1 SIran 71
C) Out of Davis and Akerman steering mechanism | ¢) 339 iR 3fepa Tl 7 § 4 2fag
Davis is more popular 3fIF AT B
D) For perfect steering, it must always have an D) gl W & g, S9H gHRN TS dlchlicid
instantaneous centre about which wheels must &% B AT ol IRl TR DI ga-T
rotate AT

37 | Which option is not correct for safety practice IRET 3 foig & fore & a1 fdevey w8t 1ol §
point of view A) RETHD DS U
A) Wear protective clothing B) STRINT faQ T et 1 T &1 & I < o
B) used oil can be kept near the hot area THAT g
C) Do not spill any oil or grease on the ground C) SHIF R ®IE dd a1 dat 7 fagdh
D) Give correct information of your job to D) TUAEIDI BT 3T hTH bl Tl Sl &

supervisor

38 | Which is correct option for propeller shaft of Sl T8 & WUeR YR & fod et fdshed §
vehicle A) T8 39 J ufedl g wifed & ol ®vdl 8
A) It transmits power from engine to wheels B) U% U O14 R §
B) Itis a solid shaft C) A ¥R B &
C) Both A & B D) SR # F BT el
D) None of the above

39 | What is wheel track ? A ¢ F1§?
A) Distance between front tyre to back tyre A) The TR W S TR & ot Bl gl
B) Distance between centre of LH tyre to Centre | B) 3RUd TR & % § TeIqd TRR & b &

of RH tyre R

C) Both Aand B C) A R B!
D) None of the above D) SR H F BT T
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NCL — ATT Written test for the Post of: Dragline Operator (Trainee), in reference to E.N.:187,dt: 22/02/2020, SET A

40 | Which of the following is not correct for 9 0 ¥ S Tegfiis & foe 96t el §
Aluminium ? A) I faggd aradd!
A) High electrical conductivity 2 ?G{qq%
B) Low thermal conductivity D) 3= eI
C) Light in weight
D) D) high ductility
41 | A circular piece of paper of radius 30 cm is DTS B U MATBR gh Sl for ! BT 30
trimmed into the shape of biggest possible square. | I} g &1 THa 98 I F MHR & BicT FAT 8|
What is the perimeter of square? 3 arf & oRkfy e 2
amo B
C) 168 D) 120
42 | Chose the correct option ol fadbed TH1:
i) If the diagonals of a quadrilateral are equal i) afe T agd & ol sRIeR § a1 78
then it is not necessarily a rectangle 3TIYGD gl D1 I8 T 3 5
ii) Diagonals of a square are equal but not ii) T a7l & faemuf aRTeR § Afe Sl 781
necessarily bisect at right angle g Uh QWX ! DI TR fguiford & |
iii) Diagonals of rhombus intersect at right angle iii) THAqYST & fIHUT U G B! THDHIU TR
iv) If the diagonals of a quadrilateral bisect at CARGE
right angle it is necessarily a square iv) afg T IqHS & famul THH I IR TH g
I BT ¢ dl T8 MaID =0 I TP a7 §
A) iii) B) i) A) iii) B) ii)
C) iv) D) i) ii)iii) iv) Q) iv) D) i) i) iii) iv)
43 | Which of the following is correct about soldering | fHfeiRad A ¥ S ciehT T &1 UlchdT & o H
process: SRR
_ _ _ i) oS dfeT 3R feq w1 U Mg arg 8
i) Solder is an alloy of copper and tin iy ree S ok o B iy oTq 3
i) Solder is and alloy of lead and tin i) TIeeR 31 TS T O
iii) Solder has low melting point iv) Tarorelt 3 AR 3 T T AT e ¥ e
iv) Soldering is used for welding electric wires el a1 SuEnT R o
together - . .
A) i) iii) and iv) B) ii) iii) and iv) g 3 i'i';)ij)h?v)'v) B[)))"i)i)”'s)hfi)'v)
C) i) i) iii) iv) D) ii) and iv)
44 | At what temperature Celsius and Fahrenheit g aUEH R AR 3R BRAGISE dgdH
temperature are same T 8
A) 0 f&oit B) -10 f&%it
A) 0 degree B) -10 degree 0) 40 feift D) SR T4
C) - 40 degree D) All of above
45 | How many feet/ minute in 20 mile/ hours? 20 Hid / °¢ e wie / fBFe grme
A) 600 feet/ minute A) 600 Wic / fiH e
B) 1760 feet/ minute B) 1760 Bic / e
C) 3600 feet/ minute C) 3600 i< / fiFe
D) 700 feet/ minute D) 700 ®ic / fie
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NCL — ATT Written test for the Post of: Dragline Operator (Trainee), in reference to E.N.:187,dt: 22/02/2020, SET A

46 | Which is not correct about anodising process? TSSO Ufdhal o SR | M9 0§ &1 Iot -Tgl
. — _ &7
) Proce_ss_ of forming thin layer of oxide of i) T @) siawEe @ Uaeh )Ra a1 3
aluminium -
1) oxygen gas evolved at anode reacts with . iR sifaeior e Tegrifian
aluminium to form thicker protective oxide i) TS W o i b
1Y O YRETHD FI1SE IR BT (a0 St §
_Mayer . _ _ iii) TRA P! HIeTs ST UfaRiy § gUR forar o
iii) Resistance can be improved by increasing Tk
thickness of layer . T 7Y
Iv) Resistance is not related to thickness of layer ) IRRYE TRl 1 e 9 e
A) Only iii) B)i)ii)andiv) | ﬁ%\%‘_‘) Bg g%%&ﬁ? V)
C) ii) and iv) D) Only iv) Q1) SR W) ) Pac)
47 | Which option is correct for function of tyre TRR & B & o1 HH A1 fddwed wet §
i) The tyre should create minimum noise i) TRR ®I YAdH TR Ual FH1 1T
i) Tubeless tyres are better for balancing of ii) Ui} & Tga & ol S[Ee eRR 98k §
wheels iii) ST <RRI B UeR & ga1 &1 i
iii) Slow leakage of air during puncture in tube RS3IC]
less tyres iv) TR H0F & $S 8¢ dP HY Rl §
iv) Tyres does reduce vibration to some extent A) i) 3R iii) B) i) ,iii) Td iv)
A) i) & iii) B) i) ,iii) & iv)
C) iii) 3R iv) D) i) ,ii), iii) Td iv)
C) iii) & iv) D) i) ,ii) iii) & iv)
48 | What is the function of jib crane? 519 &1 BT w1 2
A) It remains fixed and transports object from one | A) I8 fRR Tgd1 § 3R T WM I T V”H W
place to other I B! FIART BT 8
B) It moves and transport object from one place to | B) Ig foh<fl 9 B Th WM A gAY ”IH W
other AT g SR et 2 g |
C) It is the same as EOT Crane C) Ig ‘3t 1P JHH ©
D) None of the above D) Wi & ¥ Bl ol
49 | Feature of Anti lock braking system is T Al ST Red & faRivar g
A) It prevents the wheel from skidding A) T8 Ufed & fhge I Ahar 8
B) It does not prevent wheels from locking B) U8 Ul &I b 811 I gl Abdl §
C) BothA&B C) AR BEHI
D) None of the above D) IRITd & ¥ I 1ol
50 | If the ratio of area to perimeter of regular hexagon | ¢ FAfEd YS! & &1 IRIY I SUTd
is 1.732, what is the perimeter of this hexagon 1.732 8, 1 39 Yy &I uRy 71 8
A) 40 A) 40
B) 4 B) 4
C) 24 Q) 24
D) 12 D) 12
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ATT only for Dragline Operator (Trainee)
(Exam Held on 29/11/2020, in ref to E.N. 187)

Ques.| Correct | Ques.| Correct Ques.| Correct

No.| Answer No.| Answer No.| Answer
1|C 21]A 41|C
2|C 22]A 42|A
3|D 23|B 43|B
4]|1A 24|D 44|C
5(D 25|C 45|B
6(C 26|A 46|D
7|\D 27|C 47|D
8|D 28|B 48|B
9|C 29]A 49|A

10|D 30(B 50(C

11|B 31|D

12|B 32|C

13|D 33|D

14|C 34(B

15|B 35(B

16|D 36|C

17|B 37|B

18|A 38|A

19|D 39|B

20(B 40|B




